
 
 
 
 

 

 
G R E E N W I T  T E C H N O L O G I E S  I n c .
 
             OFFICIAL SUPPLIER OF MOTORINOTM  PRODUCTS 

      

 
SPARE   PARTS 

CATALOG 
           PARTS for Motorino XPd 

 

February, 2016 

 

____________________________________________________________________________________ 

©2016 Greenwit Technologies Inc. 



TR08L

DP05-MBLK

DT02

DP08

DP07

DP18DP09

TT15

TR08R

DE02-D

DE01

DP03-MBLK DP14

Motorino XPd Parts

Colors

ORG Orange

MBLKMBLK Matte BlackMatte Black

Motorino XPd Parts



g

XPd  - Panels & Trim

Part# Picture Description Colour Part# Picture Description

DP03-MBLK / 
DP03-ORG

Front Fender (same 
as XPh in different 

colors)

Matte Black 
/ Orange TR08L Mirror black L

DP01-MBLK / 
DP01-ORG

Fairing Box Front
Matte Black 

/ Orange TR08R Mirror black R

DP05-MBLK / 
DP05-ORG

Fairing Box Reverse
Matte Black 

/ Orange DT08
 XPd Dash Sunshade 

(Black) [See Hardware: Pt# 
DM31] 

DP20-MBLK / 
DP20-ORG

Headlight cowl panel, 
plastic, Matte Black or 

Gloss Orange

Matte Black 
/ Orange DT03

Steering Column 
Reflector

DP18 Access Hatch DT04 Reflector Bracket

DP09 Bellypan TR02
Rear Fender 

Reflector

DP08 Underseat Panel TR03
Round orange 

reflectors

DP14 Rear Fender TR04
Cable retaining 

bracket

DT02 Seat Cushion DT07
 Turnsignal Lens 

and Rear Housing

DT05
Single-person XPD 
seat, fits on XPD 
cargo rack DM20

 DT06 
 Red Plastic Taillight 

Lens 

DP07 Floorboard DM24P
Plastic Under-seat storage 

panels, 3-pc set, (no mounting 
hardware).

DM24
Metal mesh Under-seat 

storage panels, 3-pc set, (no 
mounting hardware).

___
*See Assemblies Section for list of all components Motorino XPd Parts



XPd- Electrical

Part# Picture Description Part# Picture Description

DE01
Headlight (with 

bulbs)
 EL70 

 48v CCt Controller 
[For Digital gauges] 

 DE02-D 
 3-Gauge Digital 

Dash 
EL01

48v CCt Controller 
[For Mechanical 

gauges]

 DE02 
 3-Gauge 

Analogue Dash 
EL124

60V SIne wave 
Controller (starting in 

2015)

NE03
Left Switch Cluster 

(Chrome) 
EL09 Throttle 

NE04
Right Switch Cluster 

(Chrome)
EL10 Companion handle

DE05
Turnsignal (front, 
rear, left, right)

EL11 CCT switch

DE07 Taillight Ass'y EL119
60V Basic Alarm [will 

work with 48V]

EL12L / 
EL12R

Brake Switches  
(hammer style) [Specify 

Left or Right]
EL65

Turn signal gauge, no 
encosure, part of 

NE02 or De02

 EL115 
 Chare Port, 4-pin 
inline connector, 

MALE [2015-onwards] 
EL40 40A Wire lengths 

(set of 4)

EL119
48V/60V  Alarm 

w. 2 remotes
EL79

LED bulb 12v 1156 
9LED white bayonette 

mount

DE09
Ignition Set (w. seat 

and hatch locks)
EL92

LED bulb 12 1156 
9LED yellow

NE02
Speedo gauge (with 

harness and 2W 
bulbs)

EL18
12V DC 

converter

EL21 12V Horn EL120
LED Headlight Bulb, 
Upgrade w/ mounting 

hardware [Stock from 2015]

EL22 40A Breaker EL34
12V 18W Headlight 

Bulb 

BAT07  Alarm key FOB 
batteries EL58-AMB

12V 10W Turnsignal 
bulb

EL24
Male IEC Charging 

Terminal [2014 and 
Earlier]

EL30
12V 10W brake light 
bulb (XPa XPh XPd)

EL19 Turnsignal Relay EL35
12V 2W dashboard 

bulb (all models)

EL71
White Rear Signal LED 
bulb Wedge base 12v 

t10 8smd
EL78

Orange Rear Signal LED 
bulb Wedge base 12v 

t10 8smd

___
*See Assemblies Section for list of all components Motorino XPd Parts



p

 ` XPd- Mechanical

Part# Picture Description Part# Picture Description

DM01
Handlebar fasteners [pre-

2012 XPds w/ Non-Chrome 
DM11 headpieces)

MC11
Pedal Axle Sprocket 

w. pin

DM02 Handlebar MC24 Folding Pedals [Pair]

DM03R
Brake Handle (right) 

(hydraulic)
MC13 Pedal Cranks

DM03L
Brake Handle (left) 

(hydraulic)
MC14 Sprocket Freewheel

MC56
180mm Rear Disc 
Brake Rotor (post 

2012)

EM08L / 
EM08R

Foot Pegs (specify [L] 
or [R]) Pre-2012

DM05 Front Brake Disc DM17 Seat Clasp

HM06R
Front Shock Absorber 

(right) MC07 Rear Brake Disc (pre-
2012)

HM06L
Front Shock Absorber 

(left) DM12 Main Kickstand

DM07
Front Wheel (see 

hardware for seals 
and bearings)

DM14 Side Kickstand

MC112
Front axle 12mm 

dia. *Spacer cut to 
spec

DM16 Pedal Axle

DM19 Steering column TT01 3.5 X 10" , Tubeless 
Tire [Rear Tire till 2014]

HM09
Speedometer 

Wormgear DM28
Handlebar, 
aluminum, 

bracket/bolt-on cross 

DM09 Battery Retaining Bar
MC50L / 
MC50R

XPD Master Cylinder Brake 
Reservoir (specify][L]eft or 

[R]ight)

DM06L 
DM06R

Footpeg (specify left 
or right) Post-2012

DM11
Steering Column 

Headpiece [older Gen. 
XPds]

DM15 Headlight Bracket
DM11-

CHROME

Chrome Steering column 
headpiece,  w/ bottom 
groove, later style XPd

DM13 Metal Headlight Grill TT11B
Tubeless Tire Valve - 

Bent 

DM20
Rear Fender Brackets 
(specify left or right)

MC19 Rear disc brake pads

DM21 Seat Hinge MC20
Front Disc Brake 

pads

MC15
ABS  Front hydraulic 
regulator [c/w ABS 

Coupler Nipple]
MC32r

XpD Front Brake 
caliper  - RED

(Continues...)

___
*See Assemblies Section for list of all components Motorino XPd Parts



XPd- Mechanical [...Continued]

Part# Picture Description Part# Picture Description

MC09
Speedometer Cable 

[Older models w/ 
analog gauges]

TT15-WHI
Tire 4x12" (120/70-
12) White Sidewall

MC08
Rear Shock Absorber

ADJUSTABLE
TT15

Tire 4 x12" (120/70-
12)

TT20
Tire 120/70-10 Stock 
Front and Rear from 

2015 onward
HR61 Fender Brackets

MC17 ABS Nipple Coupler DM26
Handlebar, chromed 

steel, spiral cross bar, 
17cm high.

MC37 Front Hydraulic Line HR64
x 2 Hydraulic Banjo 

bolt

MC40 Rear Brake Caliper MC34 Rear Hydraulic Line

DM18 Seat Cage MC22 Rear Brake Pads

DM29 Cargo Seat rack - 
requires DT05 seat

DM32
XPd Bolt-on Cargo Rack 

(requires tabs on seat frame, 
2015 XPd's onward)

B23 X-Large Cargo Rack Box 
24"x16" - White B22 Large Cargo Rack Box 

14"x15" - White

DM13P Plastic Headlight Grill B21 Large Cargo Rack Box 
23"x15" - White

MC35
Rear calipers [Pre-
2012] Replace with 

MC40 and MC56
DM10 Fairing Box Bracket

DM22-ORG
Seat Support Frame, 

Tall, Orange, XPd
DM22-BLK

Seat Support Frame, 
Tall, Black, XPd

DM23-ORG
Seat Support Frame with 
Backrest (pad not incl.), 

Tall, Orange, XPd
DM23-BLK

Seat Support Frame 
with Backrest (pad not 
incl.), Tall, Black, XPd

DM27
Handlebar, chromed 
steel, plain cross bar, 

18cm high.
DM31

XPd Dash Sun Shade 
Mounting hardware 

[see Pt# DT08]

DM25 Handlebar Mount, cast 
aluminum, 3 pc

___
*See Assemblies Section for list of all components Motorino XPd Parts



___
*See Assemblies Section for list of all components Motorino XPd Parts
___
*See Assemblies Section for list of all components Motorino XPd Parts

HR44 Kickstand Bolt (for all HR36

XPd - Hardware and Minor Parts
NOTE: Any minor parts which are elements of a larger assembly are not listed here.  See assemblies for details

Part# Picture Description Part# Picture Description

HR03
Bearings -Steering 

Column 
HR55

Bike Chain (specify 
precise length or # of 

links)

HR04 Bearings - Pedal Axle HR56 Chain Master Link

HR06
Front Wheel Bearings 

both sides
HR62

M5x0.8 nut (for 
connector block 

posts)

HR65 Seat Bolt HR23 Panel screws

HR14
Front wheel seal, 

both sides. 
(32mm/20mm)

HR24 Panel screw clips

HR18
 spring - main 

kickstand
HR67 XPd Handlebar Bolt

HR19
spring - side 

kickstand 
HR68 Column Reflector Bolt

HR66 Floorboard bolt HR29
Front caliper 

mounting bolt

HR22
Battery contact screw set 

(8 bolts, 8, lock washers, 8 
washers) 

HR31
Universal rear brake 
disk bolt,  also front 

XPh disc

HR44
M10x1.25  Main 

Kickstand Bolt (for all 
XP bikes except XPv)

HR36
Steering column bolt 

and spacer

HR49
Battery box handle 

cotter pins
HR39 Shock Mounting Bolt

HR50 6x1.0 bolt (long) HR42
Sidestand Mounting 
Bolt M10x1.25 with 

15mm collar

HR51 6x1.0 bolt (short) HR43
M8x1.25 Rear Brake 
caliper Mounting Bolt

HR52 Ring terminal  AC18  License plate 

MC114
Front Axle spacer 

12mm  *Cut to Spec


	           PARTS for Motorino XPd
	February, 2016
	XPD_Parts.pdf
	XPd Parts


